F3SHA BORFLAELS, BIRHR) \ ]
ANEKERUTRHVASE

N H T E DB K HE2SREHE BREETE

H % R B B2 SR AR E PR AT ) 1| ER
At % 17 H RIMSET1H28H

i A B HE2E 232%=203
1 A#fLEEE (B . /)
I % FEME |G LEOESXIZEH Al & % e 2 Lt mopm | ANEDOBE] w4 2 g
2 2 | BEHEEE | MLEOBEEXEEW [ E 1 m | & 2 @ | £ 3 @ - X O & ’ =
B_IASEHE L 74,937, 000
TRIEHASH 74,938, 000 AENT HELURT4
BRASHBIA7—ILLE 75, 000, 000 2-3
H462 YN 75, 100, 000
92,122,800 |[HXZitiETE 74,940, 000 82, 430, 700
(82, 350, 400) [ St iE M 77,000, 000 BALtHBL K
EEIZHRRSH 79, 800, 000 RIRE B X
B RAR 74, 938, 000 N
BASHEEEE 74,980, 000
ERSHENED 78, 000, 000
NRER T ERRS 83, 800, 000
XSS 79, 000, 000
(B ELDTE])
1 TTEME] (X, AFLELLBRMED 100501 1 0IZHYT ZLEEFTLEHITHI L, IEREH
2 [TREHIRME] (X, ALELBRMED 100501 10I2HETELEE ( ) TERHTBH L, 01 SRR (T
3 TANDHE) (X. AHLENREL - -2UALLE CHERIRZTDOL%) #EHT I, 02 TEZmME
4 THEHSE] T ALENREREE - -ZHFLLEN 1005011 0ICHET IBEERHT I L, 03 HHFHgEIE
04 LHTEZDMEEEH
2 BRRE (B M) 05 KEHIAZERATE
2N TAOMTFADBE 22 00 = 2 T B M . - 06 55Tk
T B 3 Suzmevem| P E*R [ FFsral=REa]| +* * B # | T F%50HE=
RENm FRE WA |BEBEL 10X Ak
R5.11. 29 82,430,700 | R5.11.29 R6.3.29 87*§§£EE§§1§53”[3174 -
2 L E & B %f??@ﬁ%a I % % B |IE%x0omE £ B B i
1,236, 400 BREIT XA A |[BEBREL V10X Bk |- BLAEREIES OUANRBEOR
R6.6.14 (83,667,100) | R5.11.29 R6.7.31 87.3m 1854 0m) ELE
= BENT HLUET4 2 — SRR - FERIHEMTI L=174.5m
215‘ 3 I . ES f Dre TERfE =) = g o=
7 & R LE2B = e n A E I = #B R I E %0l E % ] i i
e Hsl KER
E = il ®e AR % B 1% 0 e L i
= — N FR ORI | . - .
5 & EBE%@E—%E;ﬁTrj%ﬁFETr I = #B R I E %08l E % g m B
E = " N EEE DL o -
5 5 ZEEB =5 oo A E I = #B I = % 0B = Py g i R
(ZHBLDTE])

1 TEERHE (T, SORWBEOBREETHL. () NICEERTRORIEERHT S,



